INPUT GROUP REFERENCE PLANE
PTO GROUP MOUNTING FACE
LEFT MOUNTING BRACKET FACE
RIGHT MOUNTING BRACKET FACE

NOTES:

A.  SWITCH IS NORMALLY CLOSED WHEN MANUAL
DIRECTIONAL CONTROL VALVE IS IN THE CENTERED
POSITION AND OPEN WHEN LEVER IS ACTUATED FROM

CENTERED POSITION.
B. CURRENT =20 AMP MAX.

C. ALL POINTS AVAILABLE FOR TESTING ARE CODED <:>

D. REFERENCE S930 FOR TWIN DISC REQUIREMENTS FOR
PRESSURE AND TEMPERATURE ALARMS.

16X @ 13.50

EQUALLY SPACED

USE 8.8 PROPERTY CLASS
QUALITY SCREWS PER ISO 898-1
AND TORQUE PER S574 OR

SERVICE MANUAL VALUES

FLYWHEEL OUTLINE MUST—__|
CONFORM TO SAE J620
NO. 460

D711.2
$»679.5 REF.
?647.635+0.065

»542.9 REF.

21.0

(T 7111

LUBE PRESSURE PORT
M33x2.0 METRIC PORT
CONFORMS TO I1SO 6149
TIGHTENING TORQUE 88+8 Nm

TEMPERATURE PORT ~/‘T

BREATHER
AND OIL FILL

3 EYEBOLTS FOR LIFTING MARINE
TRANSMISSION ONLY. EQUALIZE LOAD
ON ALL THREE EYEBOLTS TO LIFT
MARINE TRANSMISSION.

©

7
( )
0!

A
c]
a

‘
Y
_‘/-'N. 3 - 7 \ 1]
'lm' \
¢

i

LN
O SECONDARY CLUTCH
{  —— PRESSUREPORT
M14x1.5 METRIC PORT
M ) CONFORMS TO ISO 6149
j TIGHTENING TORQUE TO 20 + 2 Nm

&

'&:

N2 & N '
SN

= INT ] l‘ I 7 I_%
M14x1.5 METRIC PORT =
CONFORMS TO ISO 6149 - 1 @)a= =y
(BEFORE HEAT EXCHANGER) |
- TIGHTENING TORQUE 20+2 Nm. \
INSTALL TEMPERATURE INDICATING X :
‘ SWITCH SENSOR BULB HERE. X = SEENOTESA&B
| |
T 1111 A E— —
/“CI:U‘ D
12X $17.00 THRU SECONDARY CLUTCH :
EQUALLY SPACED PRESSURE PORT
USE 8.8 PROPERTY CLASS SAE #0 HOUSING MOUNTING FACE M14x1.5 METRIC PORT =
QUALITY SCREWS PER ISO 898-1 MUST CONFORMS TO SAE J617 CONFORMS TO ISO 6149 5
AND TORQUE PER S574 OR TIGHTENING TORQUE TO 20 % 2 Nm 4ﬁ PRIMARY CLUTCH
SERVICE MANUAL VALUES @ k LA PRESSUREPORT
. x PRIMARY CLUTCH CONFORMS TO ISO 6149
SECTION A-A = PRESSURE PORT TIGHTENING TORQUE TO 20 + 2 Nm
PRIMARY CLUTCH M14x1.5 METRIC PORT
PRESSURE PORT CONFORMS TO ISO 6149
LUBE PRESSURE PORT M14x1.5 METRIC PORT TIGHTENING TORQUE TO 20 £ 2 Nm
TIGHTENING TORQUE 54 +5 Nm MAIN PRESSURE PORT
~ 926.1 - @ M27x 2.0 METRIC PORT 06.4 THE LEVER CAN BE ROTATED TO
CONFORMS TO ISO 6149 DRILL THRU PERMITS 807 OF TOTAL ROTATION |
737.2 TIGHTENING TORQUE 75+5Nm :
7] \ NEUTRAL POSITION ENGAGES SECONDARY CLUTCH
WATER INLET FOR TEMPERATURE PORT | ~—LUBE (AUXILIARY) /
HEAT EXCHANGER MAIN PRESSURE PORT ™ A M27%2. 0 METRIC PORT M16x1.5 METRIC PORT
2-111/2 NPTF THREAD M14x 1.5 METRIC PORT CONFORMS TO ISO 6149 CONFORMS TO ISO 6149 WATER OUTLET FOR HEAT EXCHANGER
CONFORMS TO ISO 6149 (AFTER HEAT EXCHANGER) (e aRY LUBE SuFenY 2 -11 1/2 NPTF THREAD
TIGHTENING TORQUE 20+2 Nm C TIGHTENING TORQUE 75+7 Nm DIAGRAN ENGAGES PRIMARY CLUTCH 10° 40°
CONNECT OIL PRESSURE : H
g GAUGE LINE HERE TIGHTENING TORQUE 24 +2 Nm 7
_ ; .= MAIN PRESSURE PORT [ o) |
S = = M33x2.0 METRIC PORT oo
i CONFORMS TO ISO 6149
| ] / @ Is S EARN o TIGHTENING TORQUE 88+8 Nm i
i Tl ™ L - LUBE PRESSURE PORT a | N @ - 3\ il
M33x2.0 METRIC PORT \ , 7 | i) — :
— - - == AT , | OIL FILTER \ —m . ;
| - CONFORMSTO SO 6149 : | L , TR R CE REQUIRED 7 oL i
| | — : O O ® ® ® ® O TO REMOVE FILTER CANISTER [
5 L APPLY OIL TO FILTER GASKET
) B ' ® TIGHTEN FILTER AN ADDITIONAL T
I=N A = il O e O : : O o 1/2 OF TURN AFTER FILTER — 12 | =
©] > ® GASKET MAKES CONTACT \
j 0 || 3@ | ' |
N \% ] SECONDARY CLUTCH O ® ® O O T E[\ - % N N ¢ ¢
/ _ _ O——O [ PRESSURE PORT — . — " [ ) ) 2
; % i M14x1.5 METRIC PORT O O / O 0 R DR T ORT i VAN R A T %)
) ) ) | ) ) | ) N : ) CONFORMS TO ISO 6149 | g I r CONFORMS TO 1SO 6149 : g ) ) ) ) ) ) | ) ) —
] | | REEE e — TIGHTENING TORQUE TO 20 + 2Nm \02Z O [ \ TIGHTENING TORQUE 20+2 Nm dl | ‘ A = !
)/ O — { f =
ing E% 2s0) (X) - = %? |
d — f N
’ | @\ S > [T INPUT SHAFT ¢ %ﬂ | - )
o |
| ul 5 8
B O OUTPUT SPEED : ] . s
] A @ SENSOR BRACKET - N S N
7 Y - - ] o TARGET WHEEL: 80 TEETH =T ‘7 i O - - A &
o A s
© 4 o
% i I I \ O Q / I o o I i
INPUT SPEED SENSOR PORT = 3 :
I : - - G 5/8-18UNF THREAD 2 GREASE FITTING g : - - - : !
i =N ul TARGET WHEEL: 59 TEETH 2 i — |
= . o | |
| — N B . Y @ OUTPUT SHAFTG — < . S e |
f | /] Bl - B ~
| O l O
: Jo——— e i ( - \ / 50 | -
E T 9 O \. ] H_ 3
| | - ~O NN\ ) .
_ i} N Sr—— - . T _ | _ T
g =N I
[:' \ H 1 oY - - i E— — :]
- I I O O O < o | | I I I
: s 38 3
AN S \ - P ‘
CENTER OF GRAVITY/ IRS _ _ ¢ - - 2 T "~ - - i - - é - - - <, - - - ] L 3 é'é - i s i - B = : @ T -1 - - Yy
. \ — \ }7 O k@ O.J : ) l - 47 ]
= | . s A | - = ] . ! I
- = I .
\ - : | N, & : ]
N h—1 ; \ h—
| ©O——— oyl DB | A O O/ O || || V8 5 S S
* r = e} )
T = =1]
N K !g w Y | 4 e §! J /
| 1] / | / r \ il
@ ] CENTER OF GRAVITY @%r: © | @) ‘{ 1 j
L | ) — | L
i | O | 75.0 —|= - =i
| ~ 380.0 - ||
OIL STRAINER
\ (INTERNAL)
23 mm CLEARNACE REQUIRED N [
M12X1.75 -6H ¥ 10.0
| gﬁ_%ﬁggl\r/\l%?% TOACCESS 10271 OIL STRAINER PRESSURE PORT i g
' FOR USE WITH OPTIONAL M14 X 1.5 METRIC PORT
e R L |
54 mm CLEARNACE REQUIRED +2Nm
| . TO ACCESS OIL STRAINER. FOR USE WITH OPTIONAL
an = . TRAILING PUMP
| Z | “—FOR AHEAD PROPULSION
% WITH R.H. ENGINE
NS DRIVING THRU. PRIMARY SHAFT
/ \ ]
L—1
3 : A |ECNWF-24121| 05/28/2014
70.0 —f=——=1= 290.0 - \—M24 X 3.0 THD. 44.0 DEEP ] A OIL DRAIN ENIG5600 PER 1027571 REV|  CHANGENG: oATE
USE ALL HOLES FOR MOUNTING UNIT AUXILIARY LUBE SUCTION PORT —— M33x2.0 METRIC PORT _ SAE #0
~ 403.2 - USE 10.9 PROPERTY CLASS QUALITY FLANGE SIZE 51 PER 1SO 6162 (CODE 61) CONFORMS TO ISO 6149 - SAE 460 CENTA CF-R 520-HR COUPLING RST USE ASSENBLY102757 1 32600 VATERIAL oATE
CAPSCREWS ISO 898-1 AND TORQUE TO M12x1 75, 30.0 DEEP IIGOHTENCI:T(E;A-\FSAR;\]%UEERSESt8|gr£D - MECHANICAL VALVE WITHOUT TROLLING FIRST USE MODEL: MG-5600 FIGHT k9 @2 G ;Egﬁzé‘lN'%NE 01/22/2014
- 811.7 — S574 OR SERVICE MANUAL VALUES 5.0 mm Q - COMPANION FLANGE 1018650 SIMILAR TO: WR': kg’ AT TRERT: A RACINE. W1 53403 . USA
232 —=| |=— TO REMOVE DRAIN PLUG - MOUNTED HEAT EXCHANGER M1959AQ M ETR C UNLESS OTHERWISE SPECIFIED ' DRAVIN BY: ’
X. +0.75 PM
o 525.0 N 525.0 o NOTICE! THIS PRINT CONTAINS PROPIETARY INFORMATION AND IS >)8éx i%%% DESCRIPTION: CHECKED BY: ] 028 648A
NOTTOBEUSERNIN DISC, INCORPORATED o O | ALLANGULAR TOLERANCES +1° INSTALLATION APPROVED BY. [DWG SHEET. REV:
GRANTED TO THE LS. GOVERNMENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MG-5600 ALC size: AQ 40F6| A
J | H G F E D C | B | A




	Sheet1
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View41
	Section View A-A


